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gbooboobooobooboboobboobboooboooboon

Q =5004070000
P = 510510n + 500407

2P + 1 =2(510510n + 500407) + 1 = 1021020n + 1000814 + 1 = 10210207 + 1000815

0000010210200 20 2003,5,7,11,13,17000000 10000000

1000815 =3 x 5 x 66721 x 1
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oooo
2P + 1 = 15(68068n + 66721)

oooooooolboooobooooobobooobooboobooboboooobOoobOoo
good

Q=15004110000
P = 510510n + 500411

2P 41 = 2(510510n + 500411) + 1 = 1021020n + 1000822 + 1 = 10210201 + 1000823
0000010210200 20 2003,5,7,11,13,17000000 1000000

1000823 = 409 x 2447 x 1

o000 10210200 000000000000

2P +1 = 510510m + 490313

goooooboobooboooobooboobooooboobboOoOoooooDon

Q=5004130000
P = 510510n + 500413

2P + 1 = 2(510510n + 500413) + 1 = 10210201 + 1000826 + 1 = 1021020n + 1000827
0000010210200 20 2003,5,7,11,13,17000000 10000000

1000827 =3 x 3 x 61 x 1823 x 1

good
2P + 1 = 3(340340n + 333609)

goobobooo30bobobooooobobooDoobooboboDobDobooobUobDOooDOoo
goo

Q=500417 0000
P = 5105101 + 500417

2P + 1 =2(510510n 4 500417) + 1 = 10210207 + 1000834 + 1 = 1021020n + 1000835

0000010210200 20 2003,5,7,11,13,17000000 10000000

1000835 =5 x 11 x 31 x BR7 x 1

oooo
2P + 1 = 55(18564n + 18197)

gOooOooOooOsoobobooooboboobooobooooDoobDooDobDOoboboboOooboo
good
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Q=5004190000
P = 510510n + 500419

2P + 1 =2(510510n 4 500419) + 1 = 10210207 + 1000838 + 1 = 10210207 + 1000839

0000010210200 20 2003,5,7,11,13,17000000 10000000

1000839 = 3 x 7 x 47659 x 1

oooo
2P + 1 = 21(48620n + 47659)

go00doOoboOo210000000bO0bO0b0oO0oO0oOo0oDOOobDO00oDOobDOobOoOooOooog
goog

Q=5004310000
P = 510510n + 500431

2P + 1 =2(510510n + 500431) + 1 = 1021020n + 1000862 + 1 = 10210207 4+ 1000863

0000010210200 20 2003,5,7,11,13,17000000 10000000

1000863 =3 x 3 x 3 x 19 x 1951 x 1

oooo
2P + 1 = 3(340340n + 333621)

g0oobOobooo30boboooooobobOooOoOobOobOobDobDobOoobOobOobDOoo
goo

Q=15004410000
P = 510510n + 500441

2P + 1 =2(510510n 4 500441) + 1 = 10210207 + 1000882 + 1 = 10210207 + 1000883

0000010210200 20 2003,5,7,11,13,17000000 10000000

1000883 = 13 x 76991 x 1

oooo
2P + 1 = 13(78540n + 76991)

goodo0obo0oyoobooO0ooobOoboobooOooOUoOo0ooDOobDOoOoDLDOobDOoboooboOooog
googo

Q=500443 0000
P = 510510n + 500443

2P + 1 = 2(510510n + 500443) + 1 = 1021020n + 1000886 + 1 = 1021020n + 1000887
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0000010210200 20 2003,5,7,11,13,17000000 10000000

1000887 =3 x 37 x 71 x 127 x 1

oooo
2P + 1 = 3(340340n + 333629)

oboobobooo3oboboboooooboboooOobOobUoboobDoooobOobDoobooo
goo

Q=500447 0000
P = 5105100 + 500447

2P + 1 = 2(510510n + 500447) + 1 = 10210201 + 1000894 + 1 = 10210200 + 1000895
0000010210200 20 2003,5,7,11,13,17000000 10000000

1000895 =5 x 7 x 28597 x 1

oooo
2P + 1 = 35(29172n + 28597)

000000003 0000000000000000DO000D00DOO0ODODO0ODODOODODOD
good

Q=5004490000
P = 510510n + 500449

2P + 1 = 2(510510n 4 500449) + 1 = 1021020n + 1000898 + 1 = 1021020n + 1000899
0000010210200 20 2003,5,7,11,13,17000000 10000000

1000899 = 3 x 3 x 111211 x 1

oooo
2P + 1 = 3(340340n + 333633)

gooooooOo3ooboooooUoboUoOoU0bOoUbDOoUbOoUobObOUDbDOoUobDboUuDboOO
goo

Q=500453 0000
P = 510510n + 500453

2P + 1 =2(510510n + 500453) + 1 = 1021020n 4+ 1000906 + 1 = 10210207 4+ 1000907

0000010210200 20 2003,5,7,11,13,17000000 1000000

1000907 = 1000907 x 1

oooo 10210200 000000000000

2P 4+ 1 = 510510m + 490397
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Q=500459 0000
P = 5105100 + 500459

2P + 1 = 2(510510n + 500459) + 1 = 10210201 4+ 1000918 + 1 = 1021020n + 1000919
0000010210200 20 2003,5,7,11,13,17000000 1000000

1000919 = 1000919 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 490409

gbbogbogobogbbuggbboobbooobuoobbogn

Q=5004710000
P = 510510n + 500471

2P + 1 =2(510510n + 500471) + 1 = 10210201 + 1000942 + 1 = 10210207 + 1000943

0000010210200 20 2003,5,7,11,13,17000000 10000000

1000943 = 17 x 97 x 607 x 1

oooo
2P + 1 = 17(60060n + 58879)

oboobooo1ivroooboo0oO0oobOboOooObO0oo0bOo0obOoOobUobDUoOobDbOobobOoo
good

Q=5004730000
P = 510510n + 500473

2P + 1 =2(510510n + 500473) + 1 = 10210201 + 1000946 + 1 = 10210207 + 1000947

0000010210200 20 2003,5,7,11,13,17000000 10000000

1000947 = 3 x 109 x 3061 x 1

oooo
2P + 1 = 3(340340n + 333649)

gooooooOo3oUobooooboooboo0ooU0bOoUDOoUobDOoUobbOUDOoUobDboUDoO
oono

Q=500477 0000
P = 5105100 + 500477

2P + 1 =2(510510n + 500477) + 1 = 1021020n 4+ 1000954 + 1 = 10210207 + 1000955
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0000010210200 20 2003,5,7,11,13,17000000 10000000

1000955 = 5 x 200191 x 1

oooo
2P + 1 = 5(204204n + 200191)

ooobOoobooos0b0bOobOOoO0b0o0b0bDOobOUoObO0ObUObDOobDOobObOObOobDOobDOoo
goo

Q=500483 0000
P = 5105100 + 500483

2P + 1 = 2(510510n + 500483) + 1 = 10210201 + 1000966 + 1 = 1021020n + 1000967
0000010210200 20 2003,5,7,11,13,17000000 10000000

1000967 = 11 x 90997 x 1

oooo
2P + 1 = 11(92820n + 90997)

00000000 NnNooo0o0o0O00ooO0o0o0OO00oo0DO0o0DO0o0bOoDoOoDObOOoDODbOD
good

Q=5004910000
P = 510510n + 500491

2P + 1 = 2(510510n 4 500491) + 1 = 1021020n + 1000982 + 1 = 1021020n + 1000983
0000010210200 20 2003,5,7,11,13,17000000 10000000

1000983 = 3 x 23 x 89 x 163 x 1

oooo
2P + 1 = 3(340340n + 333661)

gooooooOo3oooboooooUoobooUooU0bOoU0UDbOoUbOoUbbOUDbDOOobDbOUDbOoO
goo

Q=5005010000
P = 510510n + 500501

2P + 1 =2(510510n + 500501) + 1 = 1021020n + 1001002 + 1 = 10210207 4+ 1001003

0000010210200 20 2003,5,7,11,13,17000000 1000000

1001003 = 1001003 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 490493
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Q =5005030000
P = 510510n + 500503

2P + 1 =2(510510n 4 500503) + 1 = 10210207 + 1001006 + 1 = 10210207 + 1001007

0000010210200 20 2003,5,7,11,13,17000000 10000000

1001007 =3 x 3 x 7 x 15889 x 1

oooo
2P + 1 = 21(48620n + 47667)

goooooboOo21000b0000ob0obooooobooooDobDooDOobDOobooboOoobooO
good

Q =500509 0000
P = 510510n + 500509

2P + 1 =2(510510n + 500509) + 1 = 1021020n + 1001018 + 1 = 10210207 + 1001019

0000010210200 20 2003,5,7,11,13,17000000 10000000

1001019 = 3 x 333673 x 1

oooo
2P + 1 = 3(340340n + 333673)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
goo

Q=5005190000
P = 5105101 + 500519

2P + 1 =2(510510n + 500519) + 1 = 1021020n + 1001038 + 1 = 10210207 + 1001039

0000010210200 20 2003,5,7,11,13,17000000 10000000

1001039 = 13 x 77003 x 1

oooo
2P + 1 = 13(78540n + 77003)

oooooooowooooooooooooooOobooooOobooooOObOOooobObOOooDObOn
oooo

Q=5005270000
P = 5105101 + 500527

2P + 1 =2(510510n + 500527) + 1 = 1021020n 4+ 1001054 + 1 = 10210207 + 1001055
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0000010210200 20 2003,5,7,11,13,17000000 10000000

1001055 =3 x 5 x 11 x 6067 x 1

oooo
2P + 1 = 165(6188n + 6067)

o0obOobOoolesobooooOoU0o0oUbo0obO0obOobOOobODOobOU0oOobOobUOobOobDOobDOobooo
good

Q=500537 0000
P = 5105101 + 500537

2P + 1 = 2(510510n + 500537) + 1 = 10210201 + 1001074 + 1 = 10210200 + 1001075
0000010210200 20 2003,5,7,11,13,17000000 10000000

1001075 =5 x 5 x 23 x 1741 x 1

oooo
2P + 1 = 5(204204n + 200215)

gboobobooosOobobobooobobOoboboobobOobobDobDOobobOOobOobOobooo
oono

Q=5005430000
P = 510510n + 500543

2P + 1 = 2(510510n + 500543) + 1 = 10210201 + 1001086 + 1 = 1021020n + 1001087
0000010210200 20 2003,5,7,11,13,17000000 1000000

1001087 = 1001087 x 1
oooo 10210200 000000000000
2P + 1 = 510510m + 490577

gooboobooobooboboobboobboobooobooo

Q=5005510000
P = 510510n + 500551

2P + 1 =2(510510n + 500551) + 1 = 1021020n + 1001102 + 1 = 10210207 + 1001103

0000010210200 20 2003,5,7,11,13,17000000 10000000

1001103 = 3 x 333701 x 1

oooo
2P + 1 = 3(340340n + 333701)
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goo

Q =500557 0000
P = 510510n + 500557

2P + 1 = 2(510510n + 500557) + 1 = 10210201 + 1001114 + 1 = 10210200 + 1001115
0000010210200 20 2003,5,7,11,13,17000000 10000000

1001115 =3 x 3 x 5 x 22247 x 1

oooo
2P + 1 = 15(68068n + 66741)

o00o0o0O0oOooboooboooboobOoooObO0oobDO0o0obO0o0obUoDoooDbOoboDbOoo
good

Q=500561 0000
P = 510510n + 500561

2P 41 = 2(510510n + 500561) + 1 = 10210200 + 1001122 + 1 = 1021020n + 1001123
0000010210200 20 2003,5,7,11,13,17000000 1000000

1001123 = 1001123 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 490613

gbbogbogobogbbuggbboobbooobuoobbogn

Q =500567 0000
P = 510510n + 500567

2P + 1 =2(510510n + 500567) + 1 = 1021020n 4+ 1001134 + 1 = 10210207 + 1001135

0000010210200 20 2003,5,7,11,13,17000000 10000000

1001135 = 5 x 200227 x 1

oooo
2P + 1 = 5(204204n + 200227)

o00b0o0O00sS000000000000DODOO0ODODOODODOODOOOODODODOD
goo

Q =500569 0000
P = 5105101 + 500569

2P + 1 =2(510510n + 500569) + 1 = 1021020n + 1001138 + 1 = 10210207 + 1001139
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0000010210200 20 2003,5,7,11,13,17000000 10000000

1001139 = 3 x 333713 x 1

good
2P + 1 = 3(340340n + 333713)

g00obOooOo0o30b0bobooooobobOooOoOobOobobDOoboDobooobOobDOooDOoo
goo

Q=5005730000
P = 510510n + 500573

2P + 1 = 2(510510n + 500573) + 1 = 10210201 + 1001146 + 1 = 1021020 + 1001147
0000010210200 20 2003,5,7,11,13,17000000 10000000

1001147 =7 x 17 x 47 x 179 x 1

oooo
2P + 1 = 119(8580n + 8413)

gooooooolyoogoodooooooOoobDoooboUooUobOoOoooOooDoUDoo
googo

Q =1500579 0000
P = 510510n + 500579

2P + 1 = 2(510510n + 500579) + 1 = 10210201 4+ 1001158 + 1 = 1021020n + 1001159
0000010210200 20 2003,5,7,11,13,17000000 1000000

1001159 = 1001159 x 1
oooo 10210200 000000000000
2P + 1 = 510510m + 490649

gooboobooobooboboobboobboobooobooo

Q=5005810000
P = 510510n + 500581

2P + 1 =2(510510n + 500581) + 1 = 1021020n + 1001162 + 1 = 10210207 + 1001163

0000010210200 20 2003,5,7,11,13,17000000 10000000

1001163 = 3 x 333721 x 1

oooo
2P + 1 = 3(340340n + 333721)
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goo

Q =500587 0000
P = 510510n + 500587

2P + 1 =2(510510n + 500587) + 1 = 1021020n 4+ 1001174 + 1 = 1021020n + 1001175

0000010210200 20 2003,5,7,11,13,17000000 10000000

1001175 =3 x5 x5 x 7x 1907 x 1

oooo
2P + 1 = 105(9724n + 9535)

go0obOobOools0ob0oo0oo0o0oooboobooOooOob0oobOobOobOoDOooboDOoboon
good

Q=500593 0000
P = 510510n + 500593

2P + 1 =2(510510n 4 500593) + 1 = 10210207 + 1001186 + 1 = 10210207 + 1001187

0000010210200 20 2003,5,7,11,13,17000000 10000000

1001187 =3 x 3 x3 x 11 x 3371 x 1

oooo
2P + 1 = 33(30940n + 30339)

go0odoOoboOo33boobooooob0oboobooooooooDobDUooDOobDOoboooboOooboog
good

Q=1500597 0000
P = 510510n + 500597

2P + 1 = 2(510510n + 500597) + 1 = 10210201 + 1001194 + 1 = 1021020n + 1001195
0000010210200 20 2003,5,7,11,13,17000000 10000000

1001195 =5 x 13 x 73 x 211 x 1

good
2P + 1 = 65(15708n + 15403)

o0oobOogoboe 000000000 bbOOObO0OO0ODO0ODOODbDUODUOODbDObODOn
good

Q =5006030000
P = 510510n + 500603
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2P + 1 =2(510510n 4 500603) + 1 = 10210207 + 1001206 + 1 = 10210207 + 1001207

0000010210200 20 2003,5,7,11,13,17000000 1000000

1001207 = 31 x 32297 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 490697

gboboobogobogoboboobboobooobooooboon

Q =500609 0000
P = 510510n + 500609

2P + 1 = 2(510510n + 500609) + 1 = 10210201 4+ 1001218 + 1 = 1021020n + 1001219
0000010210200 20 2003,5,7,11,13,17000000 1000000

1001219 = 1001219 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 490709

gbbogbogobogbbuggbboobbooobuoobbogn

Q=5006110000
P = 5105101 + 500611

2P + 1 = 2(510510n + 500611) + 1 = 10210201 4+ 1001222 + 1 = 1021020n + 1001223
0000010210200 20 2003,5,7,11,13,17000000 10000000

1001223 =3 x 3 x 53 x 2099 x 1

oooo
2P + 1 = 3(340340n + 333741)

o00ob0ooO0oo30b00b0oooooooboobooDoboboobobODobDobOoobOobDOoDOon
goo

Q=5006230000
P = 510510n + 500623

2P + 1 =2(510510n + 500623) + 1 = 1021020n + 1001246 + 1 = 10210207 + 1001247

0000010210200 20 2003,5,7,11,13,17000000 10000000

1001247 = 3 x 13 x 25673 x 1

76



oooo
2P + 1 = 39(26180n + 25673)

oboooooo3oooooooooobooobooobooboobooooobOoobOoo
good

Q=5006270000
P = 5105101 + 500627

2P 41 = 2(510510n + 500627) + 1 = 10210201 + 1001254 4+ 1 = 10210201 4 1001255
0000010210200 20 2003,5,7,11,13,17000000 10000000

1001255 = 5 x 43 x 4657 x 1

oooo
2P + 1 = 5(204204n + 200251)

ooooooooboso0ooooboboooooooboooooooDooOobobooooobbOBbOoOn
ooo

Q=15006290000
P = 510510n + 500629

2P + 1 = 2(510510n + 500629) + 1 = 10210201 4+ 1001258 + 1 = 1021020n + 1001259
0000010210200 20 2003,5,7,11,13,17000000 10000000

1001259 =3 x 3 x 7 x 23 x 691 x 1

oooo
2P + 1 = 21(48620n + 47679)

gbooboooobo21o00ooobooooooboooboob0o0obooboboooobOoobOoo
good

Q=1500639 0000
P = 510510 + 500639

2P + 1 =2(510510n 4 500639) + 1 = 10210207 + 1001278 + 1 = 10210207 + 1001279

oo00o00o10210200 20 2003,5,7,11,13,17000000 1000000

1001279 = 1001279 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 490769

oooboobooobooboboobboobbooboooboon
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Q=5006410000
P = 510510n + 500641

2P + 1 = 2(510510n + 500641) + 1 = 10210201 4+ 1001282 + 1 = 1021020n + 1001283
0000010210200 20 2003,5,7,11,13,17000000 10000000

1001283 =3 x 17 x 29 x 677 x 1

oooo
2P + 1 = 51(20020n + 19633)

gboobooooslboboooboooooboboooboobooboobobnooobOobobOoo
goog

Q=5006510000
P = 510510n + 500651

2P + 1 = 2(510510n + 500651) + 1 = 10210201 + 1001302 + 1 = 1021020n + 1001303
0000010210200 20 2003,5,7,11,13,17000000 1000000

1001303 = 1001303 x 1

Ooooo 10210200 0000000000000

2P +1 = 510510m + 490793

goboobooobooboboobboobbooboooboon

Q =5006530000
P = 510510n + 500653

2P + 1 =2(510510n + 500653) + 1 = 1021020n 4+ 1001306 + 1 = 10210207 + 1001307

0000010210200 20 2003,5,7,11,13,17000000 10000000

1001307 = 3 x 333769 x 1

oooOo
2P + 1 = 3(340340n + 333769)

gboobobooo3obobooooooboboooOoboboboobDoboboobUobobooo
goo

Q =500657 0000
P = 510510n + 500657

2P + 1 = 2(510510n + 500657) + 1 = 1021020 4+ 1001314 + 1 = 1021020n + 1001315
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0000010210200 20 2003,5,7,11,13,17000000 10000000

1001315 =5 x 7x 7x 61 x 67 x1

oooo
2P + 1 = 35(29172n + 28609)

o00o0obO0oOoo3o0ooboboobooobobooobooobooboobobooooboOoobOoo
good

Q=500659 0000
P = 5105101 + 500659

2P + 1 = 2(510510n + 500659) + 1 = 10210201 4+ 1001318 + 1 = 1021020n + 1001319
0000010210200 20 2003,5,7,11,13,17000000 10000000

1001319 =3 x 11 x 19 x 1597 x 1

oooo
2P + 1 = 33(30940n + 30343)

go0odoOoboOo33boobooOooob0oboobooUooUoo0ooDobDUooDobDOobooboOooog
googo

Q =5006630000
P = 510510n + 500663

2P + 1 = 2(510510n + 500663) + 1 = 10210201 + 1001326 + 1 = 1021020n + 1001327
0000010210200 20 2003,5,7,11,13,17000000 1000000
1001327 = 1001327 x 1
0000 10210200000000000000
2P + 1 = 510510m + 490817

gooboobooobooboboobboobboobooobooo

Q=5006710000
P = 5105100 + 500671

2P + 1 =2(510510n + 500671) + 1 = 1021020n + 1001342 + 1 = 10210207 + 1001343

0000010210200 20 2003,5,7,11,13,17000000 10000000

1001343 =3 x 7 x 41 x 1163 x 1

oooo
2P + 1 = 21(48620n + 47683)
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Q=5006770000
P = 510510n + 500677

2P + 1 =2(510510n + 500677) + 1 = 1021020n 4+ 1001354 + 1 = 1021020n + 1001355

0000010210200 20 2003,5,7,11,13,17000000 10000000

1001355 =3 x 5 x 241 x 277 x 1

oooo
2P + 1 = 15(68068n + 66757)

o00o0o0O0ooolboooooooooboooobooobOooboobobooooDbOoboDbOoo
good

Q=500681 0000
P = 510510n + 500681

2P + 1 =2(510510n 4 500681) + 1 = 10210207 + 1001362 + 1 = 10210207 + 1001363

0000010210200 20 2003,5,7,11,13,17000000 10000000

1001363 = 11 x 91033 x 1

oooo
2P + 1 =11(92820n + 91033)

goooooboolnooooOooob0obOobOoU0oOoU0oOo0oDOobDOoOobDOobDOobOooOoboOooo
good

Q =15006830000
P = 510510n + 500683

2P + 1 = 2(510510n + 500683) + 1 = 10210201 + 1001366 + 1 = 1021020n + 1001367
0000010210200 20 2003,5,7,11,13,17000000 10000000

1001367 =3 x 3 x 111263 x 1

good
2P + 1 = 3(340340n + 333789)

ooobobooo3oboboooooobobooDoobooboboDobDobooobUobOoobDOoo
goo

Q =5006930000
P = 510510n + 500693
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2P + 1 =2(510510n 4 500693) + 1 = 10210207 + 1001386 + 1 = 10210207 + 1001387

0000010210200 20 2003,5,7,11,13,17000000 1000000

1001387 = 1001387 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m 4 490877

gboboobogobooboboobboobooobooooboon

Q =500699 0000
P = 510510n + 500699

2P + 1 = 2(510510n + 500699) + 1 = 10210201 4+ 1001398 + 1 = 1021020n + 1001399
0000010210200 20 2003,5,7,11,13,17000000 10000000

1001399 = 7 x 29 x 4933 x 1

oooo
2P + 1 = 7(145860n + 143057)

gooooooovyooooooooobooooOobo0obDooDbDOoobbOODbDoOOobboUODboO
goo

Q =5007070000
P = 510510n + 500707

2P + 1 = 2(510510n + 500707) + 1 = 10210201 + 1001414 + 1 = 10210200 + 1001415
0000010210200 20 2003,5,7,11,13,17000000 10000000

1001415 =3 x 5 x 101 x 661 x 1

oooo
2P + 1 = 15(68068n + 66761)

oooooooolibhoooobooooooboooboobooboobooooobOoobOoo
good

Q=5007110000
P = 510510n + 500711

2P + 1 =2(510510n + 500711) + 1 = 1021020n + 1001422 + 1 = 10210207 + 1001423
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2P + 1 = 21(48620n + 47687)
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P = 510510n + 500719
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P = 510510n + 500729

2P + 1 = 2(510510n + 500729) + 1 = 10210201 4+ 1001458 + 1 = 1021020n + 1001459
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1001459 = 1001459 x 1
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P = 510510n + 500737

2P + 1 =2(510510n 4 500737) + 1 = 10210201 + 1001474 + 1 = 1021020n + 1001475
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2P + 1 =2(510510n + 500741) + 1 = 1021020n + 1001482 + 1 = 10210207 + 1001483
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P = 510510n + 500749

2P + 1 = 2(510510n + 500749) + 1 = 10210201 4+ 1001498 + 1 = 1021020n + 1001499
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86



gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q =500809 0000
P = 510510n + 500809

2P 4+ 1 =2(510510n + 500809) + 1 = 1021020n + 1001618 + 1 = 10210207 4+ 1001619
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2P + 1 =2(510510n 4 500813) + 1 = 10210207 + 1001626 + 1 = 10210207 + 1001627
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P = 510510n + 500831

2P + 1 = 2(510510n + 500831) + 1 = 10210201 + 1001662 + 1 = 1021020n + 1001663
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Q=5008330000
P = 5105101 + 500833

2P + 1 = 2(510510n + 500833) + 1 = 10210201 + 1001666 + 1 = 10210200 + 1001667
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1001735 =5 x 7 x 28621 x 1

oooo
2P + 1 = 35(29172n + 28621)

oboooooo3boooboboooooboboooboobooboobobooooboobOoo
good

89



Q =500869 0000
P = 5105101 + 500869

2P + 1 = 2(510510n + 500869) + 1 = 10210201 4+ 1001738 + 1 = 1021020n + 1001739
0000010210200 20 2003,5,7,11,13,17000000 10000000
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goboobooobooboboobboobbooboooboon

Q =500879 0000
P = 510510n + 500879

2P + 1 =2(510510n + 500879) + 1 = 1021020n + 1001758 + 1 = 10210207 + 1001759
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1001759 =11 x 11 x 17 x 487 x 1
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2P + 1 = 2(510510n + 500887) + 1 = 10210201 + 1001774 + 1 = 10210200 + 1001775
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2P + 1 =2(510510n + 500893) + 1 = 1021020n + 1001786 + 1 = 10210207 + 1001787
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oooo
2P + 1 = 3(340340n + 333929)
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P = 510510n + 500897
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2P + 1 = 2(510510n + 500911) + 1 = 10210201 4+ 1001822 + 1 = 1021020n + 1001823
0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 = 2(510510n + 500921) + 1 = 10210201 4+ 1001842 + 1 = 1021020n + 1001843
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Q=15009330000
P = 510510n + 500933
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Ooooo 10210200 000000000000

2P +1 = 510510m + 491417

goboobooobooboboobboobbooboooboon

Q=5009710000
P = 510510n + 500971
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gboobobooo3obobooooooboboooOoboboboobDoboboobUobobooo
goo

Q=15009770000
P = 510510n + 500977

2P + 1 =2(510510n 4+ 500977) + 1 = 1021020n + 1001954 + 1 = 1021020n + 1001955

95



0000010210200 20 2003,5,7,11,13,17000000 10000000

1001955 = 3 x 5 x 66797 x 1

oooo
2P + 1 = 15(68068n + 66797)

obooboooolibhoooboboooooboboooboooboobooboboooobOobobOoo
good

Q =5009870000
P = 510510n + 500987
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2P + 1 =2(510510n 4+ 501001) + 1 = 10210207 + 1002002 + 1 = 10210207 + 1002003

0000010210200 20 2003,5,7,11,13,17000000 10000000
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1003247 =7 x 251 x 571 x 1

oooo
2P + 1 = 7(145860n + 143321)
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P = 510510n + 501629
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2P + 1 =2(510510n 4 501629) + 1 = 10210207 + 1003258 + 1 = 10210207 + 1003259

0000010210200 20 2003,5,7,11,13,17000000 1000000

1003259 = 1003259 x 1
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2P 4+ 1 =510510m + 492749
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Q=501637 0000
P = 5105101 + 501637

2P +1 = 2(510510n + 501637) + 1 = 10210201 + 1003274 + 1 = 10210200 + 1003275
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003275 =3 X3 XxbXxHXxTxT7Tx7Tx13x1
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2P + 1 = 1365(748n + 735)
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Q=>5016430000
P = 510510n + 501643

2P + 1 = 2(510510n + 501643) + 1 = 10210201 + 1003286 + 1 = 1021020n + 1003287
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003287 = 3 x 334429 x 1

oooo
2P + 1 = 3(340340n + 334429)
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Q=5016470000
P = 5105101 + 501647

2P + 1 =2(510510n + 501647) + 1 = 10210201 + 1003294 + 1 = 10210207 + 1003295

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003295 =5 x 19 x 59 x 179 x 1
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Q=15016490000
P = 5105101 + 501649

2P 41 = 2(510510n + 501649) + 1 = 1021020n + 1003298 + 1 = 10210201 + 1003299
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003299 = 3 x 11 x 30403 x 1

good
2P + 1 = 33(30940n + 30403)

oooooooos3booooooooooooooooooboooooOobooooboOoooDoobOn
oooo

Q=>5016590000
P = 510510n + 501659

2P + 1 = 2(510510n + 501659) + 1 = 10210201 4+ 1003318 + 1 = 1021020n + 1003319
0000010210200 20 2003,5,7,11,13,17000000 1000000
1003319 = 43 x 23333 x 1
0000 10210200000000000000
2P + 1 = 510510m + 492809
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Q=501661 0000
P = 5105100 + 501661

2P + 1 =2(510510n 4 501661) + 1 = 10210207 + 1003322 + 1 = 10210207 + 1003323

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003323 =3 x 17 x 103 x 191 x 1

oooo
2P + 1 = 51(20020n + 19673)
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Q=5016670000
P = 510510n + 501667

2P + 1 =2(510510n 4 501667) + 1 = 1021020n + 1003334 + 1 = 1021020n + 1003335

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003335 = 3 x 5 x 66889 x 1

oooo
2P + 1 = 15(68068n + 66889)
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Q=5016710000
P = 510510n + 501671

2P + 1 =2(510510n + 501671) + 1 = 10210201 + 1003342 + 1 = 10210207 + 1003343

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003343 = 11 x b3 x 1721 x 1

oooo
2P + 1 =11(92820n + 91213)
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Q=15016730000
P = 510510n + 501673

2P + 1 =2(510510n 4 501673) + 1 = 10210207 + 1003346 + 1 = 10210207 + 1003347

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003347 =3 x 3 x3x3x3x4129 x 1

oooo
2P + 1 = 3(340340n + 334449)
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P = 510510n + 501679

2P + 1 =2(510510n + 501679) + 1 = 10210201 + 1003358 + 1 = 10210207 4+ 1003359
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1003359 = 3 x 7 x 47779 x 1
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2P + 1 = 21(48620n + 47779)
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Q =501689 0000
P = 510510n + 501689

2P + 1 = 2(510510n + 501689) + 1 = 10210201 4+ 1003378 + 1 = 1021020n + 1003379
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003379 =13 x 79 x 977 x 1

oooo
2P + 1 = 13(78540n + 77183)

00000000130 0000000000000O00D0DOO00DO0O0DOODOD0OODODOODODOD
good
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P = 510510n + 501691

2P + 1 = 2(510510n 4 501691) + 1 = 1021020n + 1003382 + 1 = 1021020n + 1003383
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003383 = 3 x 3 x 111487 x 1

oooo
2P + 1 = 3(340340n + 334461)
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Q=5017010000
P = 510510n + 501701

2P + 1 =2(510510n + 501701) + 1 = 1021020n + 1003402 + 1 = 10210207 + 1003403
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1003403 = 37 x 47 x 577 x 1
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2P 4+ 1 =510510m + 492893
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Q=5017030000
P = 510510n + 501703

2P + 1 = 2(510510n + 501703) + 1 = 10210201 + 1003406 + 1 = 1021020n + 1003407
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003407 = 3 x 193 x 1733 x 1
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2P + 1 = 3(340340n + 334469)
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Q=>5017070000
P = 510510n + 501707

2P + 1 = 2(510510n + 501707) + 1 = 10210201 + 1003414 + 1 = 1021020 + 1003415
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003415 =5 x 7 x 28669 x 1

oooo
2P + 1 = 35(29172n + 28669)
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Q=5017130000
P = 510510n + 501713

2P 41 = 2(510510n + 501713) + 1 = 10210200 + 1003426 4+ 1 = 10210201 4 1003427
0000010210200 20 2003,5,7,11,13,17000000 1000000
1003427 = 127 x 7901 x 1
0000 10210200000000000000
2P + 1 = 510510m + 492917
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Q=5017270000
P = 510510n + 501727

2P + 1 = 2(510510n + 501727) + 1 = 10210201 + 1003454 + 1 = 1021020 + 1003455
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003455 =3 x 3 x 3 x b5 x 7433 x 1
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2P + 1 = 15(68068n + 66897)
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Q=5017310000
P = 510510n + 501731

2P + 1 =2(510510n 4+ 501731) + 1 = 10210207 + 1003462 + 1 = 10210207 + 1003463
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Q=5017330000
P = 510510n + 501733

2P + 1 =2(510510n + 501733) + 1 = 10210201 + 1003466 + 1 = 10210207 + 1003467

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003467 = 3 x 23 x 14543 x 1

oooo
2P + 1 = 3(340340n + 334489)
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Q=5017370000
P = 510510n + 501737

2P + 1 =2(510510n + 501737) + 1 = 1021020n + 1003474 + 1 = 1021020n + 1003475

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003475 =5 x5 x 11 x 41 x 89 x 1

oooo
2P + 1 = 55(18564n + 18245)
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Q=5017490000
P = 510510n + 501749

2P + 1 =2(510510n 4 501749) + 1 = 10210207 + 1003498 + 1 = 10210207 + 1003499

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003499 = 7 x 143357 x 1

oooo
2P + 1 = 7(145860n + 143357)

goooooogovyoUoooOooOoOoOOoU0OOU0bDOU0ODOoUODbDOUObDOUODbDOOoDbDOUODOO
goo

Q=5017510000
P = 510510n + 501751

2P + 1 = 2(510510n + 501751) + 1 = 10210201 4+ 1003502 + 1 = 1021020n + 1003503
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003503 = 3 x 167 x 2003 x 1
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2P + 1 = 3(340340n + 334501)
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Q=501757 0000
P = 5105100 + 501757
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2P + 1 =2(510510n + 501757) + 1 = 1021020n + 1003514 + 1 = 1021020n + 1003515

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003515 =3 x 5 x 149 x 449 x 1

oooo
2P + 1 = 15(68068n + 66901)
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Q=5017630000
P = 510510n + 501763

2P + 1 = 2(510510n + 501763) + 1 = 10210201 + 1003526 + 1 = 1021020n + 1003527
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003527 =3 x I3 X 7Tx 17 x 937 x 1

oooo
2P + 1 = 357(2860n + 2811)
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Q=1501769 0000
P = 510510n + 501769

2P + 1 = 2(510510n + 501769) + 1 = 10210201 4+ 1003538 + 1 = 1021020n + 1003539
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003539 = 3 x 334513 x 1

oooo
2P + 1 = 3(340340n + 334513)
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Q=5017730000
P = 510510n + 501773

2P + 1 =2(510510n + 501773) + 1 = 10210201 + 1003546 + 1 = 1021020n + 1003547
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1003547 = 857 x 1171 x 1
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Q=15017790000
P = 510510n + 501779

2P + 1 = 2(510510n + 501779) + 1 = 10210201 4+ 1003558 + 1 = 1021020n + 1003559
0000010210200 20 2003,5,7,11,13,17000000 1000000

1003559 = 23 x 43633 x 1
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2P 4+ 1 = 510510m + 493049
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Q=>5017910000
P = 510510n + 501791

2P 41 = 2(510510n + 501791) + 1 = 1021020n + 1003582 + 1 = 10210201 + 1003583
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003583 = 7 x 307 x 467 x 1

oooo
2P + 1 = 7(145860n + 143369)
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goo

Q=5017930000
P = 510510n + 501793

2P + 1 =2(510510n + 501793) + 1 = 1021020n + 1003586 + 1 = 10210207 + 1003587

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003587 = 3 x 13 x 25733 x 1

oooo
2P + 1 = 39(26180n + 25733)

oboooooo3oooobooooobobooobooboobooboboooobOoobOoo
good
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Q=5017970000
P = 510510n + 501797

2P + 1 =2(510510n 4 501797) + 1 = 1021020n + 1003594 + 1 = 1021020n + 1003595

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003595 = 5 x 17 x 11807 x 1

oooo
2P +1 = 85(12012n + 11807)

gboooooosoooobooooooboooboooboobooboboooobOoobOoo
goog

Q=5017990000
P = 510510n + 501799

2P + 1 =2(510510n + 501799) + 1 = 10210201 + 1003598 + 1 = 10210207 + 1003599

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003599 = 3 x 3 x 19 x 5869 x 1

good
2P + 1 = 3(340340n + 334533)
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Q=5018030000
P = 510510n + 501803

2P + 1 =2(510510n 4 501803) + 1 = 10210207 + 1003606 + 1 = 10210207 + 1003607

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003607 = 11 x 91237 x 1

oooo
2P + 1 = 11(92820n + 91237)

goooooboOolnoobooO0ooobO0bOobOooU0oOoUoOoOoDOoDOoOoDOobDOobOobOoboOooo
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Q=5018110000
P = 510510n + 501811

2P + 1 =2(510510n + 501811) + 1 = 1021020n + 1003622 + 1 = 10210207 + 1003623
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1003623 = 3 x 334541 x 1

oooo
2P + 1 = 3(340340n + 334541)
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goo

Q=5018170000
P = 510510n + 501817

2P +1 = 2(510510n + 501817) + 1 = 10210201 + 1003634 + 1 = 10210200 + 1003635
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003635 = 3 x 3 x 5 x 22303 x 1

oooo
2P + 1 = 15(68068n + 66909)

goooooboOoboobooOooobOobooOooOooUooOOoDOobDOoOoDLDOobDOobobOooboOooo
googo

Q=5018210000
P = 510510n + 501821

2P + 1 = 2(510510n + 501821) + 1 = 10210201 + 1003642 + 1 = 1021020n + 1003643
0000010210200 20 2003,5,7,11,13,17000000 1000000

1003643 = 983 x 1021 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 493133

goboobooobooboboobboobboobooobooo

Q=5018270000
P = 510510n + 501827

2P + 1 =2(510510n + 501827) + 1 = 1021020n + 1003654 + 1 = 10210207 + 1003655

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003655 = 5 x 200731 x 1

oooo
2P + 1 = 5(204204n + 200731)
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Q=15018290000
P = 510510n + 501829

2P + 1 =2(510510n + 501829) + 1 = 10210201 + 1003658 + 1 = 10210207 + 1003659

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003659 = 3 x 97 x 3449 x 1
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2P + 1 = 3(340340n + 334553)
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Q=15018330000
P = 510510n + 501833

2P + 1 =2(510510n 4 501833) + 1 = 10210207 + 1003666 + 1 = 10210207 + 1003667

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003667 =7 x 7 x 20483 x 1

oooo
2P + 1 = 7(145860n + 143381)

goooooogovyoUoooOooOoOoOOoU0OOU0bDOU0ODOoUODbDOUObDOUODbDOOoDbDOUODOO
goo

Q=>5018410000
P = 510510n + 501841

2P + 1 = 2(510510n + 501841) + 1 = 10210201 4+ 1003682 + 1 = 1021020n + 1003683
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003683 = 3 x 334561 x 1

ogooo
2P + 1 = 3(340340n + 334561)

ooobOobooo3oboboooooobobooDoOoboboboDobDobooobOobDOooDoo
goo

Q=501847 0000
P = 5105100 + 501847
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2P + 1 =2(510510n 4 501847) + 1 = 1021020n + 1003694 + 1 = 1021020n + 1003695

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003695 =3 x5 x 7Tx 11 x 11 x 79 x 1
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2P + 1 = 1155(884n + 869)
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Q=5018590000
P = 510510n + 501859

2P + 1 = 2(510510n + 501859) + 1 = 10210201 + 1003718 + 1 = 1021020n + 1003719
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003719 =3 x 29 x 83 x 139 x 1

good
2P + 1 = 3(340340n + 334573)
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Q=15018630000
P = 510510n + 501863

2P + 1 = 2(510510n + 501863) + 1 = 10210201 + 1003726 + 1 = 1021020n + 1003727
0000010210200 20 2003,5,7,11,13,17000000 1000000
1003727 = 67 x 71 x 211 x 1
0000 10210200000000000000
2P + 1 = 510510m + 493217
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Q=501869 0000
P = 5105101 + 501869

2P + 1 =2(510510n + 501869) + 1 = 1021020n + 1003738 + 1 = 10210207 + 1003739

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003739 = 11 x 91249 x 1
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Q=5018710000
P = 510510n + 501871

2P 41 = 2(510510n + 501871) + 1 = 1021020n + 1003742 + 1 = 10210200 + 1003743
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003743 =3 x 3 x 13 x 23 x 373 x 1

oooo
2P + 1 = 39(26180n + 25737)

oooooooossooooooooooooooboooobooooobobooooboOoooDobOn
oooo

Q=5018770000
P = 5105101 + 501877

2P + 1 = 2(510510n + 501877) + 1 = 10210201 + 1003754 + 1 = 10210200 + 1003755
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003755 = 3 x 5 x 61 x 1097 x 1

oooOo
2P + 1 = 15(68068n + 66917)

gooooooolibooooboooooobooobooboobooboboooobOoobOoo
good

Q=5018810000
P = 510510n + 501881

2P + 1 =2(510510n 4 501881) + 1 = 10210207 + 1003762 + 1 = 10210207 + 1003763
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Ooooo 10210200 000000000000

2P +1 = 510510m + 493253
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Q=5018830000
P = 510510n + 501883

2P + 1 =2(510510n 4 501883) + 1 = 10210207 + 1003766 + 1 = 10210207 + 1003767

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003767 = 3 x 53 x 59 x 107 x 1

oooo
2P + 1 = 3(340340n + 334589)

go0oooooOo300boo0oo0ooUooU0boUDOOoUoDOoUbObOUDOoUobDbOUDoO
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Q=>501887 0000
P = 510510n + 501887

2P + 1 =2(510510n + 501887) + 1 = 1021020n + 1003774 + 1 = 1021020n + 1003775

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003775 =5 x 5 x 40151 x 1

oooo
2P + 1 = 5(204204n + 200755)
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P = 510510n + 501889

2P + 1 =2(510510n 4 501889) + 1 = 10210207 + 1003778 + 1 = 1021020n + 1003779

0000010210200 20 2003,5,7,11,13,17000000 10000000

1003779 =3 x 3 x3x7x47x 113 x 1

oooo
2P + 1 = 21(48620n + 47799)
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Q=501809 0000
P = 510510n + 501899

2P + 1 =2(510510n + 501899) + 1 = 1021020n + 1003798 + 1 = 10210207 4+ 1003799
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Q=5019010000
P = 510510n + 501901

2P + 1 = 2(510510n + 501901) 4+ 1 = 10210201 4+ 1003802 + 1 = 1021020n + 1003803
0000010210200 20 2003,5,7,11,13,17000000 10000000

1003803 = 3 x 41 x 8161 x 1

oooo
2P + 1 = 3(340340n + 334601)
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Q=5019110000
P = 510510n + 501911

2P + 1 = 2(510510n + 501911) + 1 = 10210201 + 1003822 + 1 = 1021020n + 1003823
0000010210200 20 2003,5,7,11,13,17000000 1000000
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2P +1 = 510510m + 493313
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Q=15019130000
P = 510510n + 501913
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